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Question Number : 1 Question Id : 86435110293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Positive reinforcement of desirable responses has been propounded by

1. Classical Conditioning
2. Operant Conditioning
3. Cognitive Approach

4. Constructive Approach

Options :

86435133407. 1
86435133408. 2
86435133409. 3
86435133410. 4

Question Number : 2 Question Id : 86435110294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Pairing a conditioned stimulus with a natural stimulus to evoke a natural response refers to

1. Classical Conditioning
2. Operant Conditioning
3. Cognitive Approach

4. Constructive Approach

Options :



86435133411. 1
86435133412. 2
86435133413.3
86435133414. 4

Question Number : 3 Question Id : 86435110295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In your class, Student A is very participative and responds to your questions in the class, while Student B is not regular and
attends your classes casually.

You appreciate Student A for his behaviour and ask Student B to deposit Rs 50 for every class he bunks. In this situation,
you provide

1. Positive reinforcement and positive punishment
2. Positive reinforcement and negative punishment
3. Negative reinforcement and negative punishment
4. Negative reinforcement and positive punishment

Options :

86435133415. 1
86435133416. 2
86435133417.3
86435133418. 4

Question Number : 4 Question Id : 86435110296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Cognitive approach is best understood as:

1. The relationship between stimulus and response.

2. The connection between response and reinforcement.
3. The internal process between stimulus and response.
4. The Black box between stimulus and response.



Options :

86435133419. 1
86435133420. 2
86435133421.3
86435133422. 4

Question Number : 5 Question Id : 86435110297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In view of Cognitive Approach, which one of the following is NOT the role of the teacher?

1. Teacher should be aware about the pre-requisite knowledge and skills of the learners
2. Teacher should structure the content sequentially

3. Teacher should help learners to store and retain the information

4. Teacher should focus only on the content to be taught

Options :

86435133423. 1
86435133424.2
86435133425.3
86435133426. 4

Question Number : 6 Question Id : 86435110298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I
Theories / Laws of Learning MName of the Psychologist
4. Classical Conditioning l. EL.Thorndike
B. Operant Conditioning Il. David Kolb
C. Experiential Learning 1. lvan Pavlov
D. Action Learning IV. R. W. Revans
V. B. F. Skinner

Choose the correct answer from the options given below:

TA-V,.B-UIILC-1,D-1IV
2A-V,B-IIl,C-1I,D-1
3A-ILB-V,C-1,D-IV
4 A-1LB-V.C-ILD-IV
Options :

86435133427. 1
86435133428. 2
86435133429.3
86435133430. 4

Question Number : 7 Question Id : 86435110299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The teacher is skillful in using case study method and involves group of learners in analyzing and resolving real life
problems, the purpose here is NOT to:

1. Generate alternative solutions of the problem
2. Develop interpersonal skills of students

3. Facilitate learning from one another

4. Build academic and social community

Options :

86435133431. 1
86435133432.2
86435133433.3
86435133434. 4

Question Number : 8 Question Id : 86435110300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il

A. Observation Schedule|l. Measuring 1Q

B. Intelligence test Il.Testing Variables
C. Projective test lll. Record the frquency of a behaviour
D. Attitude Scale IV. Measure personality

V. Feeling or belief of persons

Choose the correct answer from the options given below:

T.A-ILB-1L,C-IV,D-1
2A-NILB-1,C-IV,D-V
3A-ILB-V,C-IV,D-1
4 A-ILB-I,C-IV,D-V
Options :



86435133435. 1
86435133436. 2
86435133437. 3
86435133438. 4

Question Number : 9 Question Id : 86435110301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The tool to measure interest of persons, is called:

1. Inquiry form
2. Interest inventory
3. Rating scale
4, Opinionnaire

Options :

86435133439. 1
86435133440. 2
86435133441.3
86435133442. 4

Question Number : 10 Question Id : 86435110302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A teacher poses the problem in a class and learners are busy in finding the solution in groups. According to Constructivist

approach, the role of the learners is NOT to:

A. Consult the text book

B. Retrieve relevant past experiences

C. Receive relevant information

D. Formulate and test their own ideas.

Choose the correct answer from the options given below:

1. A, B and C Only
2. A and C Only
3.B, Cand D Only
4. B and D Only

Options :

86435133443. 1
86435133444. 2
86435133445.3
86435133446. 4

Question Number : 11 Question Id : 86435110303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one is NOT an application of Cognitive approach of learning?

1. The connection between the new knowledge and prior knowledge should be strengthened.
2. The newly acquired knowledge should be ready for application, whenever needed.

3. The teacher should design instruction based on learners’ needs.

4. The instruction should be designed uniformly to suit the needs of all the learners.



Options :

86435133447. 1
86435133448. 2
86435133449. 3
86435133450. 4

Question Number : 12 Question Id : 86435110304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mr. Ram is learning to ride the bicycle. He thinks about riding and is watching another person riding a bike. As per
Experiential learning approach, this is an example of:

1. Concrete Experience

2. Active Experimentation

3. Abstract Conceptualization
4. Reflective Observation

Options :

86435133451. 1
86435133452. 2
86435133453.3
86435133454. 4

Question Number : 13 Question Id : 86435110305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: This is an attempt to build “self efficacy” as per Social learning theory.

Reason R: A student has failed in first semester and is depressed; the teacher boosts his/her self confidence and motivates

him /her for future.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

86435133455. 1
86435133456. 2
86435133457.3
86435133458. 4

Question Number : 14 Question Id : 86435110306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT the description of “self efficacy” as per Social Learning Approach?
A. Positive mental states

B. Encouragement by parents and elders

C. Experience sharing by teachers

D. Seminar presentation by learners

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3.B and C only
4. Cand D only

Options :

86435133459. 1
86435133460. 2
86435133461. 3
86435133462. 4

Question Number : 15 Question Id : 86435110307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which level of taxonomy of affective domain calls for accommodation of new values with the existing and developing ones
in a conscious manner?

1. Acceptance of a value
2. Preference for a value
3. Organization

4, Characterization



Options :

86435133463. 1
86435133464. 2
86435133465. 3
86435133466. 4

Question Number : 16 Question Id : 86435110308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to Krathwohl's taxonomy of Affective domain, learner is relatively passive at which level?

1. Characterization
2. Valuing

3. Responding

4. Receiving

Options :

86435133467. 1
86435133468. 2
86435133469. 3
86435133470. 4

Question Number : 17 Question Id : 86435110309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Four pillars of education” are important for a teacher, because

1. They help in understanding the learners

2. They help in holistic personality development of students
3. They help to develop positive attitudes

4. They are important for self development

Options :
86435133471. 1



86435133472.2
86435133473.3
86435133474. 4

Question Number : 18 Question Id : 86435110310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The dominant domain when you donate goods to an orphanage is the

1. Cognitive domain

2. Psychomotor domain
3. Affective domain

4. Interactive Domain

Options :

86435133475. 1
86435133476.2
86435133477.3
86435133478. 4

Question Number : 19 Question Id : 86435110311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Admitting the students in a computer course and trying to predict their performance on the basis of the test at the time of
admission, is an example of

1. Intelligence Test
2. Aptitude Test

3. Attitude Scale

4, Achievement Test

Options :
86435133479. 1
86435133480. 2



86435133481. 3
86435133482. 4

Question Number : 20 Question Id : 86435110312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Concept of Four Pillars of Education was mentioned in the report on

1. Learning Styles

2. Learning to Realize Education’'s Promise
3. Global Sustainable Development

4. Learning: The Treasure Within

Options :

86435133483. 1
86435133484. 2
86435133485. 3
86435133486. 4

Question Number : 21 Question Id : 86435110313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Select the learning outcome in affective domain

1. Participate in the campus blood donation drive

2. Arrange the steps to be performed in a given experiment in logical sequence
3. Evaluate a research report against pre-decided criteria

4. Swachh Bharat and Unnat Bharat abhiyan

Options :

86435133487. 1
86435133488. 2
86435133489. 3
86435133490. 4



Question Number : 22 Question Id : 86435110314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Select the learning outcome in psychomotor domain that fulfils SMART Rule:

1. Communication between microcontroller and computer

2. Think how to test the TV transmitter

3. Perform the brake test of induction motor as per instructions
4. Recognize the tools used for fitting, drilling and welding

Options :

86435133491. 1
86435133492. 2
86435133493.3
86435133494. 4

Question Number : 23 Question Id : 86435110315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of Dave’'s Taxonomy of Psychomotor domain

A. Imitation, Demonstration, Precision, Articulation, Naturalization
B. Imitation, Manipulation, Precision, Articulation, Naturalization

C. Imitation, Manipulation, Performance, Articulation, Naturalization
D. Imitation, Manipulation, Articulation, Precision, Naturalization

1. A
2. B
3.C
4.D

Options :
86435133495. 1



86435133496. 2
86435133497.3
86435133498. 4

Question Number : 24 Question Id : 86435110316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Trouble shooting an electronic machine in an industry, based on the knowledge of engineering principles is the learning
outcome at which one of the following levels?

1. Apply level

2. Understand level
3. Bvaluation level
4, Create level

Options :

86435133499. 1
86435133500. 2
86435133501. 3
86435133502. 4

Question Number : 25 Question Id : 86435110317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one is NOT the role of Action Learning facilitator?

1. Manage the smooth running of the group

2. Facilitate learning in groups

3. Develop the skills of giving and receiving feedback
4. Ensure contribution by all group members

Options :
86435133503. 1
86435133504. 2



86435133505. 3
86435133506. 4

Question Number : 26 Question Id : 86435110318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Action Learning groups DO NOT have the following feature:

1. Work on real life problems

2. Follow the instructions of the teacher strictly
3. Question existing assumptions

4. Implement the solution to a problem.

Options :

86435133507. 1
86435133508. 2
86435133509. 3
86435133510. 4

Question Number : 27 Question Id : 86435110319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following sub-processes of learning in the correct sequence
A. Acquisition

B. Retention

C. Organization

D. Application

E. Recall

Choose the correct answer from the options given below

1.A B CD,E
2A CBED
3ACEBD
4. A C B DE

Options :

86435133511. 1
86435133512.2
86435133513.3
86435133514. 4

Question Number : 28 Question Id : 86435110320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



According to Kolb, one of the following is NOT included as a key concept of Experiential Learning:

1. continuous process, grounded in experience

2. interaction between the person and the environment
3. teachers’ interaction with the learners

4. process of creation of knowledge

Options :

86435133515. 1
86435133516. 2
86435133517.3
86435133518. 4

Question Number : 29 Question Id : 86435110321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following terms, indicates that the test assesses students’ learning in one or more school subjects?

1. Achisvement tests

2. Standardized Instruments
3. Attitude Scales

4. Intelligence Tests

Options :

86435133519. 1
86435133520. 2
86435133521. 3
86435133522. 4

Question Number : 30 Question Id : 86435110322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The cognitive, affective and psychomotor domains of learning are:

1. Independent of each other
2. Dependent on one another
3. Overlap each other

4. Not-related

Options :

86435133523. 1
86435133524. 2
86435133525.3
86435133526. 4

Question Number : 31 Question Id : 86435110323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to taxonomy of psychomotor domain, at which one of the following levels, the presence of instructor is a must,
when a practical skill or skill set is being learned by the learner for the first time?

1. Precision Level

2. Naturalization level
3. Articulation level
4, Imitation level

Options :

86435133527. 1
86435133528. 2
86435133529. 3
86435133530. 4

Question Number : 32 Question Id : 86435110324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of Gagne’'s events of Instruction.

A. Gain attention - Inform learners of objectives - Stimulate recall of prior learning - Present the content - Provide “learning
guidance” - Elicit performance (practice) - Provide feedback - Assess performance - Enhance retention and transfer

B. Gain attention - Inform learners of objectives - Stimulate recall of prior learning - Present the content - Provide "learning
guidance” - Elicit performance (practice) - Provide feedback - Enhance retention and transfer - Assess performance

C. Gain attention - Inform learners of objectives - Stimulate recall of prior learning - Present the content - Provide "learning
guidance” - Elicit performance (practice) - Assess performance - Provide feedback -Enhance retention and transfer

D. Gain attention - Inform learners of objectives - Stimulate recall of prior learning - Present the content - Provide
“learning guidance” - Provide feedback - Assess performance - Enhance retention and transfer - Elicit performance
(practice)

1. A
2. B
A
4.D

Options :

86435133531. 1
86435133532. 2
86435133533.3
86435133534. 4

Question Number : 33 Question Id : 86435110325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify from the following, the practical outcomes in the Psychomotor domain

A. Follow safe practices

B. Solve broad-based technology problems using the principles of basic mathematics
C. Test the performance of a petrol engine

D. Draw a sketch about the working of a 4-stroke petrol engine

Choose the correct answer from the options given below

1. A, C and D only
2. A and D only
3.Cand D only
4. B, Cand D only

Options :

86435133535. 1
86435133536. 2
86435133537.3
86435133538. 4

Question Number : 34 Question Id : 86435110326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Developing a layout plan for a residential building is the learning outcome at the level of

1. Understanding
2. Analysis

3. Evaluation

4. Creation

Options :



86435133539. 1
86435133540. 2
86435133541. 3
86435133542. 4

Question Number : 35 Question Id : 86435110327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The domain of learning, which is least represented in the majority of curriculum with regard to its development and

assessment, is

1. Cognitive domain

2. Psychomotor domain
3. Affective domain

4. None of the above

Options :

86435133543. 1
86435133544. 2
86435133545.3
86435133546. 4

Question Number : 36 Question Id : 86435110328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Constructive learning is best characterized as:

1. Acquired

2. Self generated

3. Received from teachers
4. Experienced

Options :
86435133547. 1



86435133548. 2
86435133549. 3
86435133550. 4

Question Number : 37 Question Id : 86435110329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to Kolb, which one of the following is NOT a learning stage?

1. Concrete Experience

2. Retrospective Observation
3. Abstract Conceptualization
4. Active Experimentation

Options :

86435133551. 1
86435133552.2
86435133553.3
86435133554. 4

Question Number : 38 Question Id : 86435110330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The teaching style of teachers should match with the learning styles of students because

1. Students differ from one another.

2. Students have their preferred styles of learning.
3. Students learn at different rates.

4, All of the above.

Options :

86435133555 1
86435133556. 2
86435133557.3



86435133558. 4

Question Number : 39 Question Id : 86435110331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one is NOT an assumption of collaborative Learning?

1. Learning is created through social contexts.

2. Students’ cooperate and work in teams.

3. Guidelines for learning provide useful basis for learning.
4. Diversity among learners creates rich context for learning.

Options :

86435133559. 1
86435133560. 2
86435133561. 3
86435133562. 4

Question Number : 40 Question Id : 86435110332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Select the learning outcome that can be developed through levels mentioned in Dave’s Taxonomy of psychomotor domain

1. Write a programme in C language

2. Perform short circuit test on single phase transformer

3. Write a Seminar paper on given topic

4. Explain the procedure for setting up the simple microscope

Options :

86435133563. 1
86435133564.2
86435133565. 3
86435133566. 4



Question Number : 41 Question Id : 86435110333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Process of learning and its sub-processes

1. Make subjects easy to understand

2. Allow effective classroom communication

3. Help to select suitable instructional strategy

4. Help to segregate teaching and learning activities

Options :

86435133567. 1
86435133568. 2
86435133569. 3
86435133570. 4

Question Number : 42 Question Id : 86435110334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The teachers should stimulate the prior knowledge of students to
A. Establish a link with new material

B. Stir up interest

C. Divide in groups

D. Create stimulus variation

E. Find knowledgeable students

1. A and B only

2. A, B, and C only
3.A B, Cand D only
4 AllA B C, DandE

Options :

86435133571. 1
86435133572. 2
86435133573.3
86435133574. 4

Question Number : 43 Question Id : 86435110335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A System Model renders the complex learning processes in to explicable, real entities.

Reason R: The System Model is composed of few real variables and the learning processes appear realistic, convincing and
easy for learners as the input and processes, which are real entities, can be controlled to obtain the required learning

output.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133575. 1
86435133576. 2
86435133577. 3
86435133578. 4

Question Number : 44 Question Id : 86435110336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Providing feedback to students about their assignments, helps in :
A. Reinforcement of correct learning.

B. Providing opportunity to improve their mistakes during learning.
C. Completing the assignments.

D. Being punctual in the class.

Choose the correct answer from the options given below

1. A and B only

2. A, Band Conly

3.B,Cand D only

4 AllA B, Cand D

Options :

86435133579. 1
86435133580. 2
86435133581. 3
86435133582. 4

Question Number : 45 Question Id : 86435110337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Instructional Session Plan is prepared on the basis of:

1. Theories of learning.
2. Theories of instruction.
3. Gagne's events of instruction.

4. Learning styles.

Options :



86435133583. 1
86435133584. 2
86435133585. 3
86435133586. 4

Question Number : 46 Question Id : 86435110338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The students perfomed well in practical examinations.

Reason R: The teacher follows the instructional session plan during teaching learning process.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

86435133587. 1
86435133588. 2
86435133589. 3
86435133590. 4

Question Number : 47 Question Id : 86435110339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Asking students about their knowledge of Voltage, Current and Resistance before teaching Ohm’s law would be an
example of

1. Stimulating recall of prior learning.
2. Gaining attention.

3. Assessing performance.

4. Providing guidance during learning.

Options :

86435133591. 1
86435133592.2
86435133593.3
86435133594. 4

Question Number : 48 Question Id : 86435110340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Acquisition, Organization, Retention, Recall and Application - explain the process of learning.

Reason R: Human mind processes the information in a colossally complex manner. Even the five processes listed above
are complex. These are outcomes and explain learning in a broader sense. This categorization allows practical
understanding and application of theory, without going into unnecessary details, of a learner.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :
86435133595. 1



86435133596. 2
86435133597. 3
86435133598. 4

Question Number : 49 Question Id : 86435110341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The instruction must be the most interesting activity in a classroom

A. Else the students attach themselves with whatever they find interesting.

B. But the students are expected to hold interest in class on their own.

C. But students are cutoff from other important activities assigned to them.

D. It may not all be true, still many students do not pay attention due to their own involvement.

E. If majority of students in a class refrain from learning, then the instruction is not the most interesting.
Choose the correct answer from the options given below:

1. A and B only
2.B, Cand D only
3. D and E only
4. A and E only

Options :

86435133599. 1
86435133600. 2
86435133601. 3
86435133602. 4

Question Number : 50 Question Id : 86435110342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Uncalled for media usage brings
A. Frustration.

B. Dissatisfaction.

C. Satiation.

D. Disdain.

E. Achievement.

F. Dullness.

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. C and E only

3.B, D, Eand F only
4. A B, DandF only

Options :

86435133603. 1
86435133604. 2
86435133605. 3
86435133606. 4



